Q
L C
~ = =
gsz g S8 :
- - —
RgSg B 2 g EZ o
oET S @ 55 0 S Wz
S g E8 = o ° I Eo0d —
E-c'-E‘“ © ~ © = Q)_CU —
S283% o o5 =] 25 g &
ST = o c (<} ﬂ_-:« O
BT . - o8 5c
28 go © N Q <B o = @
ETEND T o E < o c S C
sEsg 2 25 3 e S
- E£Eg58%Y 7T FeC) 3 2 a5 o ©) < 2
O SRogo 2 @~ ] <5 E S — . 3 o =
& “5Eon 8 £ g a T 25 — Q < S <
0 £98R98 = 5= SxXo (1 0 ()] o O ~
2 a83s £ o u w -~ O ] n O
o £32as353 £ cEER = I o0 -l -+ > x
IS) e < ) = o) o
n wdgeg o c - = o [ Qo0 g O =
& g8ssf 5 PR 9 s £ $%5 2 T & 9 <
0 U508 a Swm > S 5 O . [~
74 ‘5_-—:@: > '.E-&q" = = Q.>E"‘ o = W
x sty ¢ S$82 £ o o &0 Q O N
S I8f5f 2 IER ¢ $ £ sEGE N o N : :
£c”2=8.- © [P I 0 Eos — L 7] - <
Z CS®T™ gy @ T8 & £ 3 882 © ‘o N = [aa}) O
Fome 2 § 2388 =2 o o SEQ¢c N — [N] ] [
= 8¢8BE o 28R = = - =06 C — L
5 £2%5¢8 W EN @ o o) o T g ®n N — o @
| 505 ON D] S © O += e} = © N o o — L
w Fo2Le e = N= ¢ ] - Ke] e g — O
QA9cEEs A g e W Q | o N O .2 >
~ omoA )
0 S S Fo2Y 74 oz c o o
&N
« (X SO ) o = (W] =
RSt Q o =2
& A BOY |, = O © = <t 5
Q ) @ —
Z J Rl L g =298 |9f: < - i
LL] 0 Q XS | 2 S | 5 O — 2
— —y
7] — Y @) . - 2w
(!’ 2250 ~ - B = ? = (-'B' O — 0 - % @) S= =
€S8 2 S v 89. & 8 9 @ - C — < =[O o | ¥ | X
So=tE e £ 8 E 58= 3 g25._32 € E o— E O () 8|l el
L] 80528 € 3 + &8E% 3§ £2D2-8 E ~ o O =2 — ][ Elg| S
S‘ch’% gox 3 e ,ga g -G-O'gcpe 1 X Q O ~ S g | 8 o
I cwt"’ P~ =D =2 o3 —_ (0] 285835 - bo — () — O] =
%582%2 ségmgu‘__“ ; 353'“%‘285938 v (@) — { ()] L i | (%)
aEg-EgNE > 053880V E%ﬂgw%%§g-§§d¥ o N~ = c L © - O
£09%9®8058 T=a8NS5501 05 50328 _.525.Y Q. - (05 O (@)
S35537 §o55825ES c8gnes3gfsob < © Qs = O < o=
[Cie] v & c po] c S — o o @ =5 & 2 " o
os-=3 . m«s—‘“mo um:‘“'—o-— BSEB=T Q () O
-9 <4 = 1] Q = > %] o
S28287 BLS20592% rEESNEEEE R E S < < o O | g Y S Sy
2C = SSECcooiugp = ) 2 -
_ 25022°8% 385058582 £57502e 5T 2HE (<) — U — = = - IS
C =288%%c ESE82550 @ 20580805233 N = © by =
©® ~=:£05g ceg58220 ¢ u‘-EBEEQgg‘ag°O° N - | = & > oL
8 9Fs .S & 288835 che ms28582 CSEES Q O O O Ly
O 2gEE L3 3g<€%®egmg “gég_g‘égg-ggsz‘ﬁg N Nl c O Ll @ e <C O 4 O [
- O == = — - =9 = 0
e Poclol mg’gﬁgmgdﬂ .gg_f@eag‘c%mﬁﬂg — + = O LD o — b Ly
6 30583 85555258 5EegeNs2eval 0 5 Q ~ = 5 5 o w Ol Sqg S
_— c ] S5acs O o —QQ“Oq;m:math\flv = = O a =
¥ mq,ah)m(%: wv..—_(uoo-:=ﬂ_,m o ""‘wm"’c=w"'5 o O @ w o) <C ©
o = Q = o8 000 o= 0--:0)03 bt 8= 2 O . < [ ] >
K ocs=£208 9023 28w = 55082538 £ ® -+ 7] z O| O 3
Q 56cRag@® gl gosoNg 2988759 sS8EgE C o o < o — w IS
- =28 c 52 5% 8 om oUW 05 o 2202 SEa= (- o = w [ O 2
®» 00638 22,850 3 -Eoﬁoc—-c_ﬁgLO'.E 8 :
8 gseigt o 5228580E 228283058 508 £ 2 o a- z |& 5
E_' 287’%3& 3258%;;83 WEECOO.GCE'N&,UE S =) - = < L
s $2888s 23E8°58Ls §3:-5285285588 ¢ E o 5 5 |8 |5 %
o gE..-':'EEg Eog-géw‘tg‘“ E_'agc'go.ac:-ga'ac. S E © o = T N o g P @
=oc=>3=c OQ_CHCUJCDLUG) -:Emoclmwws_—m [s)) 0 | 3 g o
O O<L 0] ©T S 0o I £ o = = w L= ~ <
owm=< ODOE"Q':_I" oo_ogo:w-a-.:gwmq, [0} s ® @ Q,) 14 o4 4 5}
LEsSnnL L oggeggg8g5-ﬁ%g ‘E = S © o— 3 o i rS) 2
= 1S4 Z 2 s a2 £ o o) . (&) = o
3 m (NN} n — =
w kel e o ] ™~ S
=2 \1~’\:: 0 g < o — =J
O O)"Qc) N ~ o
- O - .
O v o™ O | < © (] & »
QO © = Mg iy Sle = S © ]
= N € S NSNS Q & [O] e |l2|3
m - << §S 8§ s‘gu—iggmg P o 515|8
+ = .88 S $8la5s|¥ ¥ |8 © 3 2 |2 | &
cC  |FE % 3 S S=(E § o 3 — £ | E &
L @g"&ﬁ XZ|Y T slE § o g L ™~ E|5 3
O G ttﬁ,m~ob.m§ < W s |9 3 o a
%)) S & 2298573 <S<[Z R x < |4 [a)
O u S O % sl 2 gl 3 = >
0Os v & 359 |zS8< S |2 2|8 a (@)
o |97 < <LL|On o@‘(%m = 3 |© o
o |Es3 Slw . gfa L .. S |8 w2
oSS o8& O3S PO o S S | = O [
£C £Q SR TE g | = o O L
285 &S|0ESIBESC 8|2 2|8 s sa]| |o|m|«<|g
4 8 [s £ |o g glO

‘
‘ﬁ‘ i\!ord)
\
\
q
— ——

m

'S

S & g

0 o ©

=z 7 o2

o) 2
o & D.;

0 - ! o

CT"
O% 2 ?«%‘E"‘
oy SES
Fra

e

2

Bidir.

DI SVINCOLO

ALCA
rogr. 295.81

{\‘; X

L p 77

%

C guaﬂff AKT

auw

(
\)\

_(G

a(a
m800

N\
} _
o 'S ) 5-
(] /6‘\,1/&‘» [ ]

S
i

XD
D

\ )> N b I: 1] \:/Cl\’ : ) 2

51 7(? ? r\) l ij[ (7, (Sjv Mg

7 ) (, ” R f

VU} ey ety g

0 f[ VS \'ﬁ' ) »z{/ \IO/ L RE e )O( \j[ jl F Vil ,!! ”
WA SN e (O g o) L \C e
Gt O O L .
\ 20 0gY l ) !‘g 2 ) At V) (1%
] <C/\ ’

\
(

~. CL\(\( /éZj’F%\))\> f<l TN ..»)/::
0 ‘W Ul ,}Q D/é IJ\)(FJC(J ] ) "
Ve \”M Dty g
/ <
A/
\

7
-y

A\ Jr

)/\

z »\gv } =
Of” J[ylv

/\{\/ > 9 J
27 (JA 7 N 43[] \()\NV\A

) k .

N Bhes ~(“
J[\) TN L,J 18
) /:(J‘\[\Tg(\)? (OC
4 \J

\J) \/)0
€
o
Qo
Q |
@ 309600,00—S \
il
E’: !
@) 395750 — [T {654
©Z
< i
\ 39550,00— ] 653
‘a< ?)& \ = I 652
= w
N L
\\ g
8 39500,0
\ !
=l




